
Multiply by Powers of Ten (H)Find each product.
36 × 0,01 = 64 × 0,001 =
60 × 0,1 = 40 × 10 =
68 × 1 = 22 × 0,001 =
66 × 10 = 62 × 0,001 =
47 × 10 = 1 × 0,1 =
76 × 10 = 42 × 1 =
4 × 1 = 80 × 10 =
6 × 1.000 = 65 × 0,01 =
29 × 0,001 = 28 × 0,001 =
47 × 0,01 = 59 × 10 =
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Multiply by Powers of Ten (H) AnswersFind each product.
36 × 0,01 = 0,36 64 × 0,001 = 0,064
60 × 0,1 = 6 40 × 10 = 400
68 × 1 = 68 22 × 0,001 = 0,022
66 × 10 = 660 62 × 0,001 = 0,062
47 × 10 = 470 1 × 0,1 = 0,1
76 × 10 = 760 42 × 1 = 42
4 × 1 = 4 80 × 10 = 800
6 × 1.000 = 6.000 65 × 0,01 = 0,65
29 × 0,001 = 0,029 28 × 0,001 = 0,028
47 × 0,01 = 0,47 59 × 10 = 590
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